3 / o 5 qﬂwy 4 3 2 1
NOTES: UNLESS OTHERWISE SPECIFIED - iv NﬂMﬂ%EN%wwmw Z&%ZN4J€?&R
A STANDOFFS SHOULD BE OF A MINIMUM LENGTH TO ACCOMMODATE THE HEIGHT

OF THE MOTHERBOARD COMPONENTS PLUS .17. APPLICATION EXAMPLES ON SHEETS
2 AND 3 ALLOW FOR MOTHERBOARD COMPONENT HEIGHTS OF .33 AND ZERO RESPECTIVELY.
@ MATING CONNECTORS OR SOCKETS SHOULD ACCOMMODATE THE APPROPRIATE RANGE OF
PIN INSERTION DEPTH. THE RANGE IS DEPENDENT ON STANDOFF LENGTH AND CONNECTOR
HEIGHT. ASSUMING THE TOTAL TOLERANCE FOR THESE DIMENSIONS IS +.010, THE MINIMUM
PIN INSERTION DEPTH WOULD BE { .31 + CONNECTOR HEIGHT - STANDOFF LENGTH }. THE
MAXIMUM DEPTH WOULDBE .05 GREATER THAN THE MINIMUM. 10 MAX
e COMPONENT HT
150 MAX—=  |=—
—- 2.960 MAX — 13 MAX | |
— 2.653 — - 46 MAX 077 MAX— = =240
= 2.500 - 11 MAX T '
MICRO-SD CONNECTQR7 - 400~ T
T T e T T R ] |
: O O O O O O O O O O O O O O O O O O O [ O O O i ‘ ‘ ]
- /M j
________ 5 i°020 g
1.500 i
i S
1.700 4 P 1237
' C o
e — i 2.01 -
i | MAX I 1B
_______________________ ' I
B Y
2 B R S
________________________________________________________________________________________________ ,
— ———0.545 MAX
DUAL RJ-45 JACK 50 POSITION D .125 MTG HOLE A
(NEAR SIDE) .100 X.100 OPTIONAL: USE .19 OD #4
HEADER INSULATING STANDOFF ON
MOUNTED FAR SIDE, AND .22 MAX OD
ON FAR SIDE #4 INSULATING WASHER
(2 PLACES) WITH #4 PAN HEAD SCREW

OR HEX NUT ON NEAR SIDE.

SOLDER SIDE OF MODULE SHOWN

DDDDDDDDDDDDDDDDD

EEEEEEEEEEEEEEEEEEEEEEEE 5405 MOREHOUSE DR., STE 200
e |PROPRIETARY Cé/,,ﬂ e e
ok o v e /| INFORMATION (898) 5560297
AAAAAA + 0° 30 MACHINED SURFACES

THIRD ANGLE PROJECTION | ael Sepp Sorie? hotn: OF CUSTOMER DRAWING

DISCLOSED WITHOUT WRITTEN

PERMISSION FROM MODEL 544] 7‘] OO'R
J;L @ NETBURNER

CAD/CAM DRAWING s7zE | FscM | DRAWING NUMBER REV
PPPPPPPP DO NOT MANUALLY| D 350580 A
v REVISE OR UPDATE 21 | SHEET 1 OF 3

3 2 | 1



\ \—OPTONAL@ 114 MTG HOLE
OUTLINE OF MODULE

50 CKT .100 X .100 RECEPTACLE
SAMTEC SSQ-125-L-D

COMPONENT SIDE OF MOTHERBOARD SHOWN

19 OD X .500 LONG

4-40 INSULATING
STANDOFF
LYN-TRON P/N

NY 6940-0440-0.500-00

7 6 5 Wﬁy 3 2 1
APPLICATION SAMPLE 1 - 1.105 —
38 MAXIMUM MOTHERBOARD COMPONENT HEIGHT 1 A
= L4 MAX
= 59 MAX = |~—
2.68 MAX - .38 MAX
—=— COMP —~—
— 2.5] MAX - HT
400 — .
T.H MAX -/
DDD"D_DDD DDDDDDDDDD“D_D[]DDDD ‘ ‘ ‘ A ] —
O O O O 0O o O 1 e s e e 1 1 O I O I O ]
[T N MOTHERBOARD
B A A
984 1%
1.500 1NE
' 1.700 3 E]
101 ( = : OPTIONAL:
' OPTIONAL: 5 | 4-40 X .31
MAX 4-40 X 31 = PAN HEAD SCREW
PAN HEAD SCREW = MCMASTER P/N
MCMASTER P/N S | 91772A107
91772A107 11 IF i +
p ! + 1 / #4 INSULATING
. ] #4S|NSULSAT|NG S / | )\//\\/é?\l\_lAESRT' ESé\AF)A)LNL
: ' WASHER, SMALL
DDDDDDDDDDDDDDDDDDDDDDDDD ’ ] —
; D D"D"D D D D"D_D D D\E OO O 0O O O o d D D ] OO O Y MCMQAOSQL%SABQ\QI ] / — 90295AO59
/N )
OPTIONAL: d

—— 125 MAX
0/7 5405 MOREHOUSE DR., STE 200
@emumer SAN DIEGO, CA. 92121
(858) 558-0293
SIZE FSCM | DRAWING NUMBER REV
SSSSS 4:1 | SHEET 2 OF 3

| 1




3 / o e qﬁw 4 3 2 1

APPLICATION SAMPLE 2
MINIMUM STACK HEIGHT (ZERO MOTHERBOARD COMPONENT HEIGHT)

—-—730—=
— 2.68 MAX -
- 2.51 MAX — 21 MAX
400 - B
100 TYP— = = T.H MAX N\
OI0IOIOICIOIGIOIIOIOIGIOIOIOIGIOIOIOIOIOICIOIOIC ’ T W w— NI ==
OIOIOIOICIOIGIOIGIOIOIGIOICIOIGIOIOIOIOIOIOIGIOIC 4| [ =
- MOTHERBOARD
A A
984 |
1.500 R
1.700 = IJ
! s C = OPTIONAL:
| OPTIONAL: 4-40 X .43
MAX 4-40 SMALL PATTERN = PAN HEAD SCREW
HEX NUT s MCMASTER P/N
: MCMASTER P/N : 91772A109
| 90730A005 110 1] +
p ' ! + HI L #4 INSULATING
' : #4 INSULATING T / ) X/\vé%\l\_lAESRT' ESRMPALNL
L@@@@@@@@@@@@@@@@@@@@@@@@ ' O ASTER BTN 1 = MSMAIERF/
DOOOOOOOOOOOOOOOOOOOBPOOO® . , 90295A059 1/
100
TYP N\
/
. OSTIONAL:_ N
.19 OD X .125 LON
— OPTIONAL @ .114 MTG HOLE 3?_40 INSUSLA(T)lNg
STANDOFF
OUTLINE OF MODULE LYN-TRON P/N e~ 195 MAX
NY4940-0440-0.125-00 |
SOCKET FOR .025 SQ PIN
MILL-MAX 4280-0-67-80-16-27-10-0
(100 PLACES)
COMPONENT SIDE OF MOTHERBOARD SHOWN e LT

RRRRRRRRRRRRR

D 850580 A

SSSSS 41 | | SHEET 3 OF 3

3 7 6 5 A 4 3 2 | 1




	Sheet 1
	Drawing View27
	Drawing View28
	Drawing View31

	Sheet2
	Drawing View32
	Drawing View33

	Sheet3
	Drawing View34
	Drawing View35


